EARAZROREIERT — 2 N—XBISY —F 2018FE6F81H (&) 4ESH4H

il bSR3 Y R3M EEE R
[AE£] 1% :250,000 " ~ 237%&:58,000”  33%&:25000MH  43&:18,000 .~ 5 & :13,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. TN KEFH) :28. —4-3- . — EEEF (1)
1 NEDTIZNE 3 26_0 1(2_8)7 3-4-3-2 | 37.8 3 (3(15;) el 2
L:7A7% B:NXO-UrJ EEPNET e
ST i 3 | ARES 1:29.1 2-2-1-1 | 38.7| — 2 434 | EEEREAL (S5HA)
2 3| VYEIYT 54.0 @ (+16) | T/IHER :
RIZART—IOF— B:YXR/TY N 455
N Tt FR A : ~3-4- — EAB— (51)
3 4 B—=T4—=F%27 o3 56.0 8 (15‘;?;]';’) R el 6 :zg) SAME :
a2/ XLLy b B:2—T 41— AR RSB
. NN EEEh : —6-5- — HEET (5HR)
NAREVESZIE = "SR K7 I * | iy |EEREEE
L1 FxT 0 ML B R¥—HF5— ke BEA
= K t 3 | SIBRET 1:32.3 7-7-6-7 | 40.5| — 7 444 | URIER (%4R)
5/5|5 T l)— 5'_:13 (1 1/2) (+2) (A) *—Z;T’
L:Z2kArgUsg—r B:FNva)7T TJrZ—kNTr—L
N B[IEe :33. 57— . = JIUBBAE (554A)
N - RN ) b7 e s ! f;) () BiEHE
L:ErFOvY BXTR 24— T T—L
N N EHBEN . _q{-o_ — HOREZ (5%#)
|7 gy vk R—s 3 mHEN 1(.13/32.>z 1-1-2-4 | 42.9 1 (i?i) e A
LA 3IR=— B A1 39TL1X bl 2ae]
® I —F—EBIERL
13=7r= 7,3,2,6,4,1,5
A== 7,3,4,2,6,1,5
Jol=5r= 3,7,2,4,1,5,6
40—+ — 3,2,4,7,1,6,5
[ N3
BB 2 480M 714K 2-3 220M B = 2-3 490M 3EHE 2-3-4 3,690
8 B 2 150M 2-4 1,720M B H 2-3 1,030/ K31 2-3-4 18,520
3 1704 3-4 830M

ABICOVWTRDTEEERROODE. TR LIV,



